
𝐴 𝐵
 𝐶

1- 𝑣 = 𝑓(𝑡) .1𝑐𝑚 → 0.6𝑠 1𝑐𝑚 → 2𝑚/𝑠 

2- 𝑣0𝐴  

3- 𝐵. 

4- 𝑡 = 4.6𝑠𝐶 

5-  

6- 𝐴𝐵 𝐵𝐶 𝐴𝐶

1-  

2- 𝑋2𝑋3 

3- 𝑧 

4-  

- 𝑋1 11.01% 

- 𝑋210% 

- 𝑋375% 

- 𝑋478.99%
•  

   𝑞𝑝 = 1.6 × 10−19𝑐  𝑚(𝑝) = 𝑚(𝑛) = 1.67 × 10−27𝑘𝑔

4.64.23.63.02.41.81.20.60𝑡(𝑠)
11.08.05.02.01.04.07.0𝑣(𝑚/𝑠)

𝐴𝑍𝑁 𝑋11.92 × 10−18𝑐14 𝑋24.175 × 10−26𝑘𝑔12 𝑋31718 𝑋42412



 

𝜏

1-  

2- 𝑣1𝑀1𝑣2 

3- 𝑣4⃗⃗  ⃗ 

4- 3𝑣2⃗⃗⃗⃗  

5- ∆𝑣3⃗⃗ ⃗⃗⃗⃗  ⃗ 

6- 𝑇  

أساتذة المادة يتمنون لكم النجاح والتفوق





1-  

2- 𝑣0 = 10𝑚/𝑠 . 

3- 𝑡 = 2𝑠 . 

4- 𝑣 = 12.5𝑚/𝑠 

5-  

• 0 ≤ 𝑡 ≤ 2𝑠  

• 2 ≤ 𝑡 ≤ 4.6𝑠  

6-  𝐴𝐵 = 10 × 22 = 10𝑚𝐵𝐶 = 12.5 × 2.62 = 16.25𝑚𝐴𝐶 = 16.25 − 10 = 6.25𝑚
1-  𝑄 = 𝑍|𝑒−|            𝐴 = 𝑍 + 𝑁       𝑚 = 𝐴𝑚𝑝          

 

 

 

 

2- 𝑋2  

• 𝐾2𝐿8𝑀2
   

• 32 

•  

  𝑋3 
• 𝐾2𝐿8𝑀7

 

• 37 

•  

3- 𝑋1𝑋2𝑋4 

•  

4-  

𝐴𝑍𝑁 𝑋1𝟏. 𝟗𝟐 × 𝟏𝟎−𝟏𝟖𝒄4.342 × 10−26𝑘𝑔261214 𝑋21.92 × 10−18𝑐𝟒. 𝟏𝟕𝟓 × 𝟏𝟎−𝟐𝟔𝒌𝒈251213 𝑋32.72 × 10−18𝑐5.845 × 10−26𝑘𝑔351718 𝑋41.92 × 10−18𝑐4.008 × 10−26𝑘𝑔241212



𝐴 = 11.01 × 26 + 10 × 25 + 24 × 78.99100 = 24.32 

7-  

8- 𝑣1 𝑣1 = 𝑀0𝑀22𝜏 = 2.5 × 0.081 × 2 × 0.02 = 5𝑚/𝑠𝑣2 = 5𝑚/𝑠 

9-  3.6𝑐𝑚 → 5𝑚/𝑠 1𝑐𝑚 → 𝑥𝑚/𝑠 𝑥 = 1 × 53.6 = 1.38𝑚/𝑠 1𝑐𝑚 → 1.38𝑚/𝑠 

10-  

11-  

•  

12-     𝑇 = 24 × 0.02 = 0.48𝑠 


